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1. If lim — (3/12 + V2 4+ \3/n2> = / 2" dx, then r =
0

n—0o00 N3
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0
2. Find/ V36 —22dr = 97
-6

1 1 0
3. If/0 f(z) dac:land/2 f(z) clx:?),then/2 flx)de =_2_

d x t2 2
4, Find—/ o=
dx \/§t4+1 zt+1

5. 1ff(z) =2 +2 — 1, then (f71)'(1) =

o1~
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10.

4
) Evaluate/ ‘xz — 9| dz.
0

Find the area of the region bounded by the graphs of the equations y = 1++/z,z = 0,2 = 8
and y = 0.
3

X
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. Find the derivative of F'(x) = / sin ¢ dt.

T

. Find / (sin3 2 COS T + sin x cos x) dr.

) Find/x\/Zx — 1dz.

x2\/3x — 2 2

Use the Logarithmic Differentiation to find the derivative of y = , L > -
(x+1)2

' /x2—|—x—|—1
Fll’ld —d.flf
2+ 1

3

I
. Evaluate / vV 1+ tan? x dx.
0

2

e 1
. Evaluate / dx.
e

zlnx

Show that f(x dt is increasing on (—00, 00), and find (f1)'(0).
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3 | [sin(2®)?)(32?) — [sin(x*)?](42%)
L.y L. L4 2
4 | —sin"z+ —sin“x+C or —cos"z —cos"x+ C
4 2 4
5 | Lee—1i4lee—1tsc
10 6
6 ) r?y/3r —2 [2 n 3 2
Y7 @t |z T 2Bz—2) 41
1
7 x—|—§1n|x2+1]—|—0
8 | m(v2+1)
9 In2
10| P s, (71)(0) = V5
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